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 ��
وه* /��	ت ذات دور ز/�* �� �34% /2	ر�� /0 .  /. -%ف ا���&+����* ا(�)'�&ي �%ا�$�# "	���ن1883اآ���� ا����	ت ��ق ا������ 
�%>;	. /. -%ف ا�:�%��	ت ا������ ا��$��9�ا��=� *���ا��� D4	 �C�;	 أو �A4B	د �%+$�;	 أو ��)�? ا�<�ا�& ا�'� E��	�Fا� 	;'�=�/. و.  �$

./ G+د	و�� &�	H و��د I'9 ف%=�'� 	;�	�=�
� وهKا /	.-%ف ا�$�	رات أ�Hث ا��A:�2	ت ا�=�'�� �;JK ا����	ت ا+M%� G��N��  ن	O/ *� رة	�
/MQR آ. 
� �A>/ *�ST��'.  

   �����ت ا�����ت ��ق ا������-1
 1-1 -VCا�� D'9 ؟�أم -��� �<%=�  . هD ا����� ا������ /$

1-2 - D'9 ؟�ت ا�����	ا���� �A
  ��اVC هO�+ D. ا���ا�C D4. آ�آ:* ا]رض وا��C %�2ا

D ا�:	9\  - 1-3%+E  .�':2�$/ I'9 ، و�%د�ت ��ق ا�����	ت /. ا����	د�= R1و R2   ��	$ا�� 	�;'���d=0,3m *'^��C .�A:�%/و ،Y1 و Y2 

  .I'9 D�>�-2 ا��$)�D ا���Db �* ا��DO). 1- ا��DO(�%ا
KCK� Mب ذاآ%ا�* 
�c ا���2� d  ا��$�T%3� /. -%ف ا����� �0A2 ا��$	�� t∆�9. /:�	��	 ا���ة ا�&/���  -1- 1-3��
����� �*  �$%9� ا���	ر ا����� ��ق ا�V1، وا

  .ا�;�اء
1-3 -2- VCا�� D'9 ء؟	* ا��� �ق ا������� �ا���� %��   .هI'9 D�>� D ��# ا���2� �JK; ا�9%$� 9��/	 ��
��ا0g� ،D4 ا��$�D=(�E  .�':2 اfن ا�:	9\  - 1-4/ DO�C ����4 ق�� ���/ D
%+  R1و R2 ?�� Iإ� 	:��  . ��
	$H I'9 بKCK��i:g را
M ا�

10µs.divأ��2� 
-1/ .���>�/ I'9 D�>� ،DOا�� *� Dbا�� *CKCK��9. /:�	��	  ا��ور ا�&/�* �'���� ��ق . 3-�A	�2C. و/�%اآ:�. آ�	 +:�. ا�%
M ا�

��
�c �%دده	ا������، ا.  
1-5 - D:2��A	2C	ن �	رة أ^%ىR2و�<%ك ا��$�b� R1 D:2:� ا��$+ Mm رة	ن �	و�	��+ *CKCK���% �* �<%+V ا��$�D:2 . ، ���	ه� /�<��* ا�%
M ا�$�R2 

�H nC	A� n2>�+ I.���>�ةا��%
��:KQ��9 o ا��$	�� �C. ا��$�2:'�..  �'�%ة ا�=	� R1و R2  *ه d'=8,4cm .ا���2ار ا 	ي /Kا� �ا����& �'��� *Q	+&���
M�+G���T ?$Hوأ ،G�+%=� i9ت؟ أ	�A=ا�� JKل هR^ ./ Jاز%Cإ  . c���

%9� ا���	ر ا����� ��ق ا ���T�ا�����.  


%9� ا  +=:%- 1-6 .9���	���	ر /��� ���4� �* ا�;�اء C	�TR=� ا��: 
. .R T

v
M

γ
= .1,39γ �� �Cون و�Hة=C	m 1و 1

8,31 . .R J mol K− −

= ��C	m 

1 ا�3	زات ا�O	/'� و
29 .M g mol �'� ا������ �';�اء=−Oو ا� T ';�اء� �2'Aا�<%ارة ا�� �أن.در� 	293 9'�T K= �9%$ا� ���T .�9 ،v . Dه

��:+%(�   ا��* �M ا���D4 إ��;	 
	2C	؟��ا�n ا���2� ا�
� ���� ������� ����رة-2���� ��� �   


�	رة /);&ة r�C	م +<��ي C I'9	9\ و/$�D:2 /��	ت ��ق  %:�=����'Fا� 	;�9��/	 +%�� ا�$	C nQ$�	ر�G �<� . ���4�، و>=	 ��:	 إ�I'9 ?�� I وا�;
 ��	$/ G'��� &�	H I'9 #O=�� *�
D ا�:	9\ د�=� /. ا����	ت ��ق ا������،ا�%+ S'Fا�Dرة	�$'� ���'Fا� �9. ا��ا�;  . i2�'+ D:2�9'�	 أن ا��$

   .r>� ./ D� ا�:=	m;	، أ9ms ?$Hا����� C=� /%ور 
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� ���� ������� �$#�ش-3���� ��� �   
 ��	$/ I'9 ���+ &�	H 0T�/ �4%�D�A
��/ �9%$C %�A+ ش	1 /. -%ف ^�

' 10 .v m s
−


D /��	ت ��ق ���4� =%+ ،*��2� و�n /$	ر /$
20msτ&، و+$�2:';	 ا��F	ش t� �=C^% ز/�*���=I'9 #O ا�<	� �c ا��$	�� Dأو�� ��T� ا��$	�� . =��
 ا��* ���D ا��F	ش 9. ا�<	�& �<r� d، وا

�$O=�ا�� ����'� G�	:2�
  .ا
   /.�ك ا����� ��ق ا������ ,�� ا�+��زه� � ��� �) '&-4
 DOا�� Db�+)1( \9	C (émetteur)ت ��ق ا�	'���� 	%دده� �����40N KHz= .D:2�$/ I'9 ت	ا���� JKد ه%�(récepteur) I'9 ���+ 

15cmي%Qس دا�T 	;'O
 �O
�2:';	 إ�iC%� .%��� I ا��$�C D:2%ا
M ا��KCKب. /. ا�:	9\ ��ق $+ *��U M+<�ل ا��$�D:2 ا����� ��ق ���4� ا�� 

� را
M ا��KCKب	
 I'9 G��+	=/�� �:$��	C ،�O$ا� I'9 D:2�$�'� ��'�F/ 0<. �ا �او+&�	C 0<�/ Dآ ��'=/ M��θ iC%+ يKا� M�2� ا��* +��O;	 ا��$

��O. ا���	cQ ا��<�'� . =	+. �* آH D	��� و�$)D و
0 ا����% ا�θ ا�&او+��* �)%C� أو�I ��3%. ا�:	9\ وا��$�D:2، /0 ا(�B	J ا�%أ
* ا��	ر /. ا�:	9\
I�>�ا�� i^ ./)1( ( )U f θ=DO3-  /. ا��.�=� ���	m �C%(� *�D:2��<�، ;<%9	 �� �C ،%�34. ا�:	9\ وا��$� GC &�	H 0<ت /0 و	
. � ��# ا��2	

I�>�ا�� I'9 D�>�)2 (DO3-/. ا��.  

�M إC%ازه	 �* هJK ا�<	��؟ - 4-1+ *�   .D'9 ��اVC /	 ا�r	ه%ة ا�
4-2 -	���Bا �9%
 I'9 ه%ة	rا� JKه %mv� D؟ ه�ر و-�ل ا����    
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